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QUESTION 1

Suppose you define two variables as follows: 

var x = 5; 

var y = "5"; 

Which statement will return the mathematical sum of these variables? 

A. alert(x + int(y)); 

B. alert(x + parseInt(y)); 

C. alert(x + y); 

D. alert((int)x + (int)y); 

Correct Answer: B 

 

QUESTION 2

Consider the following code using a checkbox object: 

Which checkbox property was used by JavaScript? 

A. checked 

B. onclick() 

C. checkThis 

D. z-index 

Correct Answer: A 
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QUESTION 3

Which statement will return the name of the browser being used to view the script? 

A. navigator.appName 

B. navigator.platform 

C. navigator.userAgent 

D. navigator.appVersion 

Correct Answer: A 

 

QUESTION 4

Consider the following statement: 

for (X; Y; Z) 

What does Z represent in this code? 

A. The counter variable 

B. The loop counter update expression 

C. The condition under which the loop will execute 

D. The highest value that the counter variable may reach 

Correct Answer: B 

 

QUESTION 5

Consider the following code: 

var myString= "Hello World"; 

alert(myString.length); 

What is the output when you run this script in the browser? 

A. An alert box displaying the following: "Hello World", 11 

B. An alert box displaying the following: myString, 11 

C. An alert box displaying the following: Hello World 

D. An alert box displaying the following: 11 

Correct Answer: D 
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